SH2FE £1H (68) B BERRE
HEFY | INEEH fE K
T R & = 142 2, 060 14.5
& 3 142 2, 060 14.5
PR —RitEmE (1/2)
a— R FEL HEFY | INEEH fs
10 | 1330 BEIB 3R 1 85 85. 0
10 | 1501 T K C 1 40 40. 0
10 | 1510 AT K A 1 17 17.0
10 | 1600 B 2 35 17.5
10 | 1700 IIN:: 1 7 7.0
10 | 2101 T 3 36 12.0
10 | 2300 Sl JE T 10 92 9.2
10 | 2421 B (2DK) 1 41 41.0
10 | 2730 RIS 2 2 1 5.5
10 | 2820 INEE 3 1 9 9.0
10 | 2840 INEE 1 2 2.0
10 | 3110 E/NE T K 1 26 26. 0
10 | 4100 RE 1 16 16.0
10 | 4200 TEIER 1 6 6.0
10 | 4220 A ] 1 6 6.0
10 | 4300 RS 5 6 1.2
10 | 4310 HYERESS 2 1 4 4.0




(2/2)

J— R FEA SEFH EEH fg=
10 | 4430 K& (3DK) 1 77 11.0
10 | 4431 K& (2DK) 1 21 21.0
10 | 4630 F 3T (2DK) 1 50 50. 0
10 | 4640 FF 2 11 5.5
10 | 4750 BRIk 1 11 11.0
10 | 4820 ARFH 2 4 2.0
10 | 4871 ARREB 1 4 4.0
10 | 4880 ARBH 1 0 0.0
10 | 4911 HIIE 5 23 4.6
10 | 5010 ETg 1 0 0.0
10 | 5620 BFEE3 1 10 10. 0
10 | 6100 B2 [E 1 26 26. 0
10 | 6210 hE SR 1 13 13.0
10 | 6400 FARIR 1 4 4.0

I\ &t b4 693 12.8




— K FEA SEFH EEH fg=
11 | 15601 R Tk C 1 6 .0
11 | 2300 o] JeR T 4 10 2.5
11 | 2740 FIN#ESE 3 1 2 2.0
11 | 4100 = 1 4 4.0
11 | 4820 ARFH 1 0 0.0
11 | 4911 IIE 1 2 2.0
11 | 6100 AL 1 0 0.0
11 | 6221 hEHELE 1 3 3.0
11 | 6231 hEE (2DK) 1 4 4.0
NG FE 12 31 2.6

PR FHCHEMH

J— R FEA SEFH EEH fg=
1B | 2100 T E 1 b 5.0
1B | 2870 INEE 4 1 7 1.0
1B | 4750 BRIk 1 0 0.0
1B | 5520 ¥ 1 2 2.0
1B | 6340 BRI 1 6 6.0
NG FE b 20 4.0




TR 6 (G - EE)

J— R FEA SEFH EEH fg=
12 | 1021 A (2DK) 1 36 36. 0
12 | 1330 HkIRT 3R 1 b4 54. 0
12 | 1700 /INH 2 8 4.0
12 | 2101 T E 1 19 19.0
12 | 2211 /N (2DK) 1 16 16. 0
12 | 2300 o] JeR T 3 21 1.0
12 | 2700 F NS 1 1 6 6.0
12 | 2750 Ezp B 1 2 2.0
12 | 2830 INET 1 8 8.0
12 | 2941 | NEFE 1B (2DK) 1 4 4.0
12 | 3110 /BT X 1 13 13.0
12 | 3210 K A K 2 22 11.0
12 | 4030 TNEPERIL 1 7 1.0
12 | 4100 = 3 13 4.3
12 | 4300 [ FEE 2 3 1.5
12 | 4310 EYEIESS 2 2 7 3.5
12 | 4640 FF 1 18 18.0
12 | 4750 BRIk 2 8 4.0
12 | 4752 B BE47E (2DK) 1 3 3.0
12 | 4820 ARFH 1 0 0.0
12 | 4860 ARKA 1 1 1.0
12 | 4890 AKRE 1 1.0
12 | 6400 FA&RIR 1 2 2.0

7\ &t 32 2178 8.7




ZR HEEHERM

J— R FEA SEFH EEH fg=
14 | 1412 K& (1DK) 1 179 179.0
14 | 2422 A (10K) 1 119 119.0
14 | 3010 = 5 61 12.2
14 | 4922 AX (1DK) 3 34 11.3
14 | 5632 BEE2 (1DK) 1 49 49.0
14 | 5800 =g (EV& L) 2 11 5.5
14 | 5801 =) 1 19 19.0

N FE 14 472 33.7
TR SREHSE

J— R FEA SEFH EEH fg=

15 | 4880 ARBH 2 2 1.0
N FE 2 2 1.0
ZR EAREHTE

J— R FEA SEFH EEH fg=
16 | 3110 E/INE TR K 1 0 0.0
16 | 4631 F LS HT 1 1 1.0
16 | 5030 E/7IEm 1 0 0.0

NG FE 3 1 0.3




R VIN=—NOTVT (BEEMR)
a—FR F=E4 S8RFH B fBEx
17 | 1240 74 2 NAS 1 98 98.0
17 | 2420 =L 1 b8 58.0
17 | 3030 J# LA MER 1 29 29.0
17 | 4631 T L FTHET 1 69 69.0
17 | 4750 BT R TIR 1 11 11.0
17 | 4820 ARFA 1 10 10. 0
17 | 4911 IR 2 37 18.5
17 | 5240 | /5 0T4—ILEHE 1 8 8.0
17 | 5520 R 1 22 22.0
17 | 6710 L H 1 74 74.0
17 | 7030 | o514 XFRT7TE 1 19 19.0
i\ &t 12 435 36. 3
R VILN—NDTUY (HER)
a—FR F=E4 S8RFH IEE fBEx
18 | 4820 ARFA 2 2 1.0
18 | 4911 IR 1 5 0.0
i\ &t 3 Y 2.3




TR RHER (EER)

J— R FEA SEFH EEH fg=
20 | 1610 R TR KA 1 12 12.0
20 | 4631 F LS HT 1 22 22.0
20 | 6210 hE SR 1 0 0.0
20 | 6221 hEHELE 1 24 24. 0

N 4 b8 14. 5
2R FHZER (EHEM)

J— R FEA SEFH EEH fg=
24 | 1412 K& (1DK) 1 63 63. 0

N 1 63 63. 0




